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Fig S7.21 (Eq. 21)
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1 Lactate + 1 Acetate +1 H* — 1 Butyrate +1 CO+ 1 H,0 AG"=-51 kJ/reaction

4 Na*//H*

ATP Yield: 0 ATP/ Lactate
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Fig S7.32 (Eq. 32) JNAD® 2NADH 2Fd, 2Fd.,

2 Lact N2y Pyr 2 Ac-CoA
Hex
. 2 NAD(P)* 1 Ac-CoA
ACCOR  BitCon _  pq ) Hex-Con 2NADEY
re red
- Ac-CoA w% Fd, eFdox
. 2 NAD(P)H 2 NAD(P)H
'\ ) -CoA
TAC --732--2-> 1 Ac-CoA AA-CoA Cro-Co OH-CoA 2H-CoA
NAD(P)H NAD(P)H ,ﬁ\
3HB-CoA SHH-CoA
NAD(P)* NAD(P)* ©
4Fd,,  4Fd o Na
a
4NAD? 4NADH
2 ADP 2 ATP

=y Hﬁmﬁﬁﬂﬂmﬁ

i QICELIE g

2 Lactate + 1 Acetate +2 H* —> 1 Hexanoate +2 CO,+2 H,0 AGY=-102 kJ/reaction

8 Na*//H*

ATP Yield: 0.5 ATP/ Lactate
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3 Lactate + 1 Acetate +3 H* —> 1 Octanoate +3 CO,+3H,0  AGY=-156 kJ/reaction

12 Na*//H*

ATP Yield: 0.67 ATP/ Lactate



Fiq 57.34 (Eq. 34)
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1 Lactate + 1 Butyrate +1 H*—> 1 Hexanoate + 1 CO,+ 1H,0  AG"=-51 kJ/reaction

4 Na*//H*

ATP Yield: 0 ATP/ Lactate

Fig S7.35 (Eq. 35)
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2 Lactate + 1 Butyrate +2 H* — 1 Octanoate +2 CO,+2 H,0

ATP Yield: 0.5 ATP/ Lactate AG’=-103 kJ/reaction



Fiq 57.36 (Eq. 36)
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1 Lactate + 1 Hexanoate +1 H* —> 1 Octanoate + 1 CO,+1H,0
AGY=-54 kJ/reaction

4 Na*//H*

ATP Yield: 0 ATP/ Lactate
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